


time zone



universal time



Iran is in GMT + 3.30 time zone.



It means when it is 1 o’clock in Greenwich, it is 4.30 in Iran.

So in Iran, the time is 3 hours 30 minutes ahead of GMT.





Find Edmonton.
What time zone is it in?

-7.30



Edmonton is in -7.30 time zone.
It means (GMT – 7 hours 30 minutes).

In Edmonton, the time is 7 hours 30 minutes behind the GMT.

When it is 1 in Greenwich, what time is it in Edmonton? 

- 7 hours 30 min



Find New Your.
What time zone is it in?

-5



New York is in -5 time zone.
It means (GMT – 5 hours).

In New York, the time is 5 hours behind GMT.

When it is 1 in Greenwich, what time is it in New York? 

- 5 hours







GMT



Marco lives in New York.
Jack lives in Morocco. 

Morocco is 3 ahead of New York.
When Marco sleeps at  10 p.m. in New York,

What time is it in Morocco?

10 + 3 = 1 a.m.



Cody: 20:44 23:44-1:18=22:26

22:26

20:44 + 3 = 23:44
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-4



-16



About -6



About -11.30



9:21 + 4 = 13.21



1:44 + 17 = 18:44 



18:03 + 5 = 23:03 



20:18-3=17:18



Find two cities with (4 h) time difference.
Find two cities with (1 h ) time difference.
Find two cities with (NO) time difference.



The time in Sao Paulo is 2 hours ahead of Lima.
Look at the time table above. How long was the journey? 

It was (13.45+ 2= 15:45) in Sao Paulo.

20:35-15:45 = 4 hours 50 minutes

1.Find : 
When it was 13:45, what time was it in Sao Paulo?

2. Find : 
How long was the journey?

(the arrival time – the departure time = ?)



The time is Cape Town is 8 hours behind Adelaide.
How long was the journey?

1. Find : 
When it was 18:05, what time was it in Adelaide?

18:05 – 8 = 10
2. Find : 

How long was the journey?
(the arrival time – the departure time = ?) 22:25 – 10 = 10 h 25 min



The time is Adelaide is 4 hours ahead of Lima.
How long was the journey?


